BEFORE THE PUBLIC UTILITY COMMISSION

OF OREGON

UM 1415

In the Metter of)	CUR REQUEST FOR RCE
In the Matter of))	CUB REQUEST FOR PGE, PACIFICORP AND IDAHO POWER
INVESTIGATION INTO COST)	ISSUE FUND GRANTS &
METHODS FOR USE IN DEVELOPING)	PROPOSED BUDGET
ELECTRIC RATE SPREADS)	
)	
	J	

The Citizens' Utility Board of Oregon (CUB) requests a collective grant of \$21,900 from the PGE, PacifiCorp and Idaho Power Issue Funds. CUB proposes this grant budget be broken down in the following manner: \$12,900 from the PGE Issues fund; \$2500 from the PacifiCorp Issues Fund and \$10,500 from the Idaho Power Issues Fund. CUB staff will keep track of their participation by hours and activity.

CUB is precertified as per OAR 860-001-0120(3)(a). UM 1415 is an eligible proceeding under the Intervenor Funding Agreement, adopted by the Commission on December 19, 2007 in Order No. 07-564, because the proceeding directly affects PGE, PacifiCorp and Idaho Power, participating public utilities (Agreement 1(k)). CUB filed its Notice of Intent to Request an Issue Fund Grant on July 12, 2011 as required by the Intervenor Funding Agreement (Agreement 6.2).

Pursuant to paragraph 6.3 of the Intervenor Funding Agreement, the proposed budget must identify certain points of information. We provide the information below.

(a) Statement of Work to Be Performed: CUB intends to participate in every procedural aspect of this case. We intend to hire Barbara Alexander, a national expert on the issue of the customer impacts from time-of-use rates. We will submit comments and reply comments. We will attend and participate in the workshops. We will review and analyze other parties' comments.

- (b) Description of Areas to Be Investigated: CUB intends to investigate issues relating to the Draft Straw Proposal including, but not limited to:
 - A. Should the PUC adopt a Straw Proposal directing development of mandatory time varying rates;
 - B. What additional factors, beyond those listed in the draft proposal should be considered by the PUC when determining whether to approve a mandatory time-varying rate;
 - C. What factors should be considered to evaluate impacts on customers from mandatory time varying rates.
 - D. What detailed information should utilities be required to provide in order to evaluate the impact on customers from mandatory time varying rates.
 - E. How the impact on customers from time varying rates could be considered in an IRP setting, which traditionally looks at benefits and risks through net present value analysis not price impact to customers, shut off levels or other criteria that would be necessary to consider the benefits and costs of mandatory time varying rates.
- (c) Description of the Class or Classes Benefiting From CUB's Participation: CUB represents the interests of PGE's, PacifiCorp's and Idaho Power's residential customers in Oregon.
- (d) The Fund from Which CUB Seeks an Issue Fund Grant & Available Funds: CUB is seeking a collective issue fund grant of \$25,900 from the PGE, PacifiCorp and Idaho Power Issue Funds. Specifically, CUB is seeking \$12,900 from the PGE Issues Fund, \$2,500 from the PacifiCorp Issues Fund and \$10,500 from the Idaho Power Issues Fund. This division recognizes that this docket applies to all three utilities, but that there are limited funds available in the PacifiCorp Issues Fund. CUB's proposed budget of \$25,900 would leave roughly \$48,000 uncommitted in the PGE Issue Fund, \$137 uncommitted in the PacifiCorp Issue Fund and \$38,300 uncommitted in the Idaho Power Issue Fund.
- (e) The Budget Showing Estimated Fees and Costs: CUB's budget accompanies this document as Attachment A.
- (f) A Representation of the Use of Matching Funds: The budget and an accounting for

the use of matching funds accompany this document as Attachment A.

Dated this 14th day of July, 2011 Respectfully submitted,

Executive Director

Citizens' Utility Board of Oregon

Attachment A

CUB Budget - UM 1415

CUB Internal Expenses	Rate	Hours	Cost
Staff			_
Bob Jenks, Executive Director	\$200	70	\$14,000
Catriona McCracken, Attorney	\$200	15	\$3,000
Ray Meyers, attorney	\$150	5	\$750
Gordon Feighner, Utility Analyst	\$100	20	\$2,000
John Sturm/Sommer Templet, Law Clerks	\$75	10	\$750
SA Anders, Business and Projects Mgr	\$75	3	\$225
CUB Consultant Expenses			
Barbara Alexander	\$120	83	\$10,000
travel to workshop			\$1,500
Other CUR Evnences			
Other CUB Expenses			\$100
Printing & Mailing			·
Travel			\$50
In-House Resources			
20% of Eligible Expenses			\$6,475
Total			
			\$25,900

UM 1415 – CERTIFICATE OF SERVICE

I hereby certify that, on this 14th day of July, 2011, I served the foregoing CUB'S REQUEST FOR PGE, PACIFICORP AND IDAHO POWER COMPANY ISSUE FUND GRANTS & PROPOSED BUDGET in docket UM 1415 upon each party listed in the UM 1415 PUC Service List by email and, where paper service is not waived, by U.S. mail, postage prepaid, and upon the Commission by email and by sending two copies by U.S. mail, postage prepaid, to the Commission's Salem offices.

(W denotes waiver of paper service)

(C denotes service of Confidential material authorized)

W BOEHM KURTZ & LOWRY

C KURT J BOEHM
36 E SEVENTH ST, STE 1510
CINCINNATI OH 45202
kboehm@bkllawfirm.com

W BRUBAKER AND ASSOCIATES

C ALAN ROSENBERG 16690 SWINGLEY RIDGE RD STE 140 CHESTERFIELD MO 63017 arosenberg@consultbai.com

W FRED MEYER STORES/KROGER

NONA SOLTERO #23C3800 SE 22ND AVE PORTLAND OR 97202 nona.soltero@fredmeyer.com

W IDAHO POWER COMPANY

CHRISTA BEARRY PO BOX 70 BOISE ID 83707-0070 cbearry@idahopower.com

W IDAHO POWER COMPANY

MIKE YOUNGBLOOD PO BOX 70 BOISE ID 83707-0070 myoungblood@idahopower.com

W BOEHM KURTZ & LOWRY

C MICHAEL L KURTZ 36 E 7TH ST, STE 1510 CINCINNATI OH 45202-4454 mkurtz@bkllawfirm.com

W DAVISON VAN CLEVE PC

C S BRADLEY VAN CLEVE 333 SW TAYLOR, STE 400 PORTLAND OR 97204 mail@dvclaw.com; bvc@dvclaw.com

W IDAHO POWER COMPANY

JEANETTE C. BOWMAN PO BOX 70 BOISE ID 83707-0070 jbowman@idahopower.com

W IDAHO POWER COMPANY

C TIM TATUM PO BOX 70 BOISE ID 83707-0070 ttatum@idahopower.com

W IDAHO POWER COMPANY

REX BLACKBURN PO BOX 70 BOISE ID 83707-0070 rblackburn@idahopower.com

W MCDOWELL RACKNER &

C GIBSON PC

WENDY MCINDOO 419 SW 11TH AVE, STE 400 PORTLAND OR 97205 wendy@mcd-law.com

W PACIFIC POWER & LIGHT

JORDAN A. WHITE 1407 W. NORTH TEMPLE, STE 320 SALT LAKE CITY UT 84116 jordan.white@pacificorp.com

W PACIFICORP OREGON DOCKETS

OREGON DOCKETS 825 NE MULTNOMAH ST, STE 2000 PORTLAND OR 97232 oregondockets@pacificorp.com

W DEPARTMENT OF JUSTICE

C JASON W. JONES 1162 COURT ST NE SALEM OR 97301-4096 jason.w.jones@state.or.us

W MCDOWELL RACKNER &

C GIBSON PC

LISA F RACKNER 419 SW 11TH AVE, STE 400 PORTLAND OR 97205 lisa@mcd-law.com

W PORTLAND GENERAL ELECTRIC

C DOUG TINGEY
121 SW SALMON ST 1WTC 0702
PORTLAND OR 97204
doug.tingey@pgn.com

W PORTLAND GENERAL ELECTRIC

DOUG KUNS 121 SW SALMON ST 1WTC 0702 PORTLAND OR 97204 pge.opuc.filings@pgn.com

W OREGON PUC

C GEORGE COMPTON
PO BOX 2148
SALEM OR 97308-2148
george.compton@state.or.us

Respectfully submitted,

Smmufengut

Sommer Templet, OSB #105260

Staff Attorney

Citizens' Utility Board of Oregon 610 SW Broadway, Ste. 400

Portland, OR 97205 (503)227-1984

sommer@oregoncub.org